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import sys
sys.path.append("statlib")
from xtest import Brown_Forsythe_test

Brown_Forsythe_test(x, g=None, verbose=True)
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import sys
sys.path.append("statlib")
from xtest import Brown_Forsythe_test2

Brown_Forsythe_test2(n, m, u, verbose=True)
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import sys
sys.path.append("statlib")
from xtest import Brown_Forsythe_test

a = Brown_Forsythe_test([3, 2, 4, 2,
[1! 11 2! 1!

Brown-Forsythe test of homogeneity of variances
F = 0.19824, dfl =2, df2 = 9.5098, p value = 0.82348
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b = Brown_Forsythe_test([3, 2, 4, 2, 3, 5, 4, 3, 3, 1, 3, 4, 5, 4, 5],
["all’ l'a"’ 'lbll’ l'a"’ 'lcll’ "C" 'lall "C" 'lall |lb",
MRt mpn mgn o mpn wpn])

Brown-Forsythe test of homogeneity of variances

F = 0.19824, dfl = 2, df2 = 9.5098, p value = 0.82348
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c = Brown_Forsythe_test([[3, 2, 2, 4, 3, 5],
[4, 1, 3, 4, 4, 5],
[3, 5, 31D

Brown-Forsythe test of homogeneity of variances
F = 0.19824, dfl =2, df2 = 9.5098, p value = 0.82348

3.3 {EMAI3

Brown_Forsythe_test2() I & D, ¥ ¥4 X, FHMHE, TMRIEL b5 R 0n 2 RF—F I Ho0n
THREZRITI ZENTE B,



import numpy as np
w= [[3, 2, 2, 4, 3, 5],
[4, 1, 3, 4, 4, 5],
[3, 5, 311
n = list(map(len, w))
m = list(map(np.mean, w))
u = list(map(lambda x: np.var(x, ddof=1), w))
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print("n =", n)
n = [6, 6, 3]
print("m =", m)

m = [3.1666666666666665, 3.5, 3.6666666666666665]

print("u =", u)

u = [1.3666666666666667, 1.9, 1.3333333333333333]

from xtest import Brown_Forsythe_test2

d = Brown_Forsythe_test2(n, m, u) # TF — Y AR E

Brown-Forsythe test of homogeneity of variances
F = 0.19824, dfl =2, df2 = 9.5098, p value = 0.82348
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